


This entire manuscript is "Copyrighted”, Dave Bilger and John Angus Eifler. January 25, 1998.
Published by Dave Bilger and John Angus Eifler. All rights reserved.
Distributed exclusively by B&B Rare Woods, 10946 W. Texas Ave., Lakewood, CO 80232.
Phone +303-986-2585  Web-site - www.wood-veneers.com/
Revised February 16, 20086.

, DEDICATION.
This book is dedicated to the perpetuation of hand sawing techniques
in the making of fine works of Art and Craft.

No part of this publication may be reproduced, introduced into or stored in a retrieval system, or transmitted, in any form or by
any means (electronic,photocopying, recording, mechanical or otherwise,) without the prior written permission of the
copyright owner/s and the publisher/s of this manuscript.



CONTENTS

INTRODUCTION

PICTURES OF A FINISHED SAW

LIST OF MATERIALS AND SUPPLIES

CUT AND FORM WOOD PIECES

METAL PIECES

FINAL ASSEMBLY

GENERAL




INTRODUCTION

We have come to realize through our collective experience in the teaching and
practicing of Marquetry and Inlaid Picture making that there is a very widespread need for
table saws which are hand operated and capable of performing very fine work, accurately.
Such a saw can be used by hobbyists, craftspeople, artists, artisans and those who just like to
be creative. The problem is that they are expensive and difficult to find, so we decided to get
our heads together and show anyone who is interested how to make one themselves.

The intention of this manuscript is to show you in a very comprehensive step by step
and systematic method how to build a hand-operated scroll table saw. Then we must do our
best to show you how it is operated. We make no attempt at motorizing this unit, although it
probably could be done very easily. Should you ever attempt to attach a motor, please
remember that the action would have to be smooth, variable and definitely very slow for the
best control possible.

The saw is capable of using the finest jeweler’s blades for Marquetry and Inlaid Picture
making. Blades as thin as 8/0 can be used with minimal breakage if the saw is made carefully
and trued properly as you will be shown. It can also be built in smaller versions for use with
jewelry making or the many other applications that are tediously performed with a hand-held
fret saw. The unit can also use standard jigsaw blades for larger work. However it is not our
intention to infer that this unit can do the same work as a motorized jigsaw. It is rather very
useful for those artisans who feel they must have absolute control of the saw while performing
very intricate work.

For the most part you will use jeweler’s blades which can easily be obtained in sizes
1/0 through 8/0 with the largest number size being the finest blade and measuring about .007”
wide across the teeth and 5” long. At the end of the book we will go into whatever information
we can on the proper use of these blades. For now, remember that they are easily obtainable
at jeweler supply companies and are the least expensive if bought by the gross. They are not
cheap to buy, but if you make this saw properly and align it well, breakage will be minimized.

The hardware and materials used in the making are standard and easily obtainable at
hardware stores except that the brake line tubing must be bought at an auto parts store.
Although sizes are shown throughout the book, they may be varied in any way that works for
you. The only thing we are copyrighting is the actual writing of this book and our presentation
concerning the making of a table saw. There are many similar saws in use and we seriously
doubt that anything about it can be patented. Our intentions are to show you how to build one
or have one built expressly for your own personal use. If you can in any way do any marketing
of the product, we will not in any way make any claims that the saw belongs to us. The written
instructions, however, do belong to us as well as any computerized graphics and any original
photography.

The sequence of operations will work well for you, but we could easily have done some
things differently. However, when it comes to the actual assembly of the components, it is
best that you follow everything step by step as we show you. Everything is really pretty easy.
Measurements will have to be made precisely. Some accurate cuts will have to be made and
some holes will have to be drilled and tapped in metal. The trickiest operation is the forming of
the metal tubing without putting a kink in it. More about that at the appropriate time.

4



We must make the assumption that you possess all the basic skills necessary to
properly perform the operations. We have no way of knowing what type of tools and
equipment are accessible to you. Thus we will not tell how to do each step, but rather just
show what each step is and an orderly sequence. | would suggest that you read the entire
manual before you get started so you will always have a general idea of what to look for as
you procede. This saw is not very difficult to make, but it does require careful workmanship. |
have built a good number of them.

Due to manufacturing processes beyond our control, drawer slides may vary
somewhat from the model shown in this manual, but the procedures should basically remain
the same.

Good luck with your project. Do not skimp on materials in any way. Especially do not
use anything but the best for the drawer slide. To our knowledge this is the only type of slide
available and they really are made for horizontal use, so buy the strongest and best you can.
Now let us get into the meat of this book. Thanks. John and Dave.






CHAPTER 2
LIST OF MATERIALS and SUPPLIES

Eye protection of your choice. Make certain that you protect your eyes in the manner
you find adequate during the building of the saw and during the subsequent use when
the finished saw is being operated. Also follow all safety procedures.

Wood:
Table top - 14 1/2" x 19 1/2” x 3/4” thick .
Base of stand - 5" x 10 3/4” x 3/4” thick.
Sides of stand - (2 ea.) - 3 3/4 to 41/4" x 5" x 3/4” thick. (See page 9.)
Rear guide plate - 4 1/2" x 10 3/4” x 1/4” thick.
Slide holder - 1 3/4” x 12" x 3/4” thick.
Hand grip - 2" x 4 1/4" x 3/4” thick.
Access plate - 2 1/2" x 2 1/2” x 1/4” thick.
Dowel rod - 5/16” x 6” long, hardwood.
Cleats - 1/2” or 3/4” square x 5" long. (Optional for butt method.)
Hardware:
Drawer Slide - 1 3/4” wide x 12" long. (Accuride () or Sterling (tm) 100 pound test, full
extension or equivalent. The different brands may be built somewhat differently.)
Hinge- (2 ea.)-11/2".
Screws, flat head - (6ea) - #6 x 5/8”.
Screws, round head - (6ea) #12 x 5/8". (2 for slide to table & 4 for rear plate.)
Lock washer - (2ea) #10.
Flat washer - (2ea) #10.
Screws, flat head - (2ea) - #8 x 1 1/4”.
Right angle bracket - 1/2” wide x 1 1/2” on each leg.
Screw eye - (2ea.) - 1/4” or 3/8" hole.
Spring - 5/16” x 3" x .028 or one of your choice.
For saw frame:
Knobbed turn screw- (2ea.) - #10-32 x 1/2” long thread.
or:  Cap screw - (2ea.) - #10-32 x 1/2" with:
Wing head to press onto cap screw head - (2ea.)
Square nut - (2ea.) - #10-32.
Washer, flat - 4 ea. - #10.
Washer, nylon (or Teflon) - (4ea.) - #10.
For slide assembly:
Screws that come with the slide.
Screws, round head - (2ea) - #6 x 5/8".
For saw frame to slide assembly:
Cap screw - (2 ea.) - #8-32 x 1/2" (or 5/8” long per step j on page 15).
Washer, lock - (4 ea.) - #8.
For handle attachment:
Cap screw - (3 ea.) - #10-32 x 1”.
Washer flat - (6 ea.) - #10.
Washer, lock - (3 ea.) - #10.
Brake line tubing (automobile) - 3/8” OD x double the depth of the throat plus 3" to 4".
Also wood screws as needed according to your method of making the stand for the table.




















